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W TIEEE A STH-AEg

ymer o SUTTH (Positivism and
Post-Positivistic Approach to

Research)




Post-positivism is related to which one of the

following  philosophies?/ ‘'STW-Ua@g’
frfafea & @ fora gviv & defua 872
(a) Critical Realism /FHI&ITHE IEdddI

(b) Empiricism /3{SATHeEg
(¢) Objectivism /El"ﬁﬁ%ﬁﬁlﬁ
(d) Subjectivism /fasafEdrae
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Post-positivism is related to which one of the
following  philosophies?/ ' ST{-Tagdg’
frafefaa o @ form g9l @ Wi 87

(a) Critical Realism /HHI&ITH% WHEW

(b) Empiricism /3{SATHeEg
(¢) Objectivism /El"ﬁﬁw
(d) Subjectivism /fasafEdrae
NTA UGC NET/JRF June 2021(04-01-2022 Shift-I)

Ans. (a) : SIAE QUGS drdads g9 § Gafdd |
FHifs 1% TS aqgdre 2yfaE & AT 2 6 9

¥ WA UF ardias @ fue faue steae & w2
3R IT-TIeaTe, TaeaIe G 3R G3e i 2|




Given below are two statements :

One is

labelled as Assertion (A) and the other is
labelled as Reason (R) :
H o wuT R ™ §, P A o UH &l

mm)aﬁ?‘qﬁﬁﬁﬁ(mmm%n

Assertion (A) :

Reasons (R) :

TR (A):

Research in the field of sciences
require more fund than that in
the field of social sciences and
humanities.

Only in economically rich
countries research in sciences
of high quality is possible.

Rferat 3R Tt fas= &
g R gEATH fagA & & |

I g AUE u=-TT @
ATAYAHAT BidT B

had ATk ®T T T 90
o gt fag= o e uras aret
I IV E

In the light of the above statements, choose the
most appropriate answer from the options given
below:/ wUT H -'-Hﬁ ﬁ'g ™

forredl o @ TR m ST &7 = it —

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3t (R) |
Td 2 3R (R), (A) FT T === 2

(b) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A)/(A) 3R (R)
qHI &1 & o (R), (A) T T A T 2

(c) (A) is correct, but (R) is not correct/(A) &l
2, el (R) &1 &I 21

(d) (A) is not correct, but (R) is correct/(A) Tal
T 2, ?rﬁrrr (R) @& 2|

ach (R):




Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R) :

for o T e T §, B B H TS @l
W(A)aﬂ'{‘@}ﬁaﬁ(mww%l
Assertion (A) : Research in the field of sciences
require more fund than that in
the field of social sciences and
humanities.

Only in ecnnumically rich
countries research in sciences

of high quality is possible.
uafaent 3T |wmTtwes s &

TS qoTH faa o a7 |

Reasons (R) :

TR (A):

3 ﬁiwﬁﬁﬁamﬁmﬁﬁﬁ
aed &l

21 Tu-T nfosR fage & ﬁm%’aﬁﬁ
afgserl & FRR QR & ofea @@ @ 21 el
a3k wTE fage § AT SESHR 91 A a5 &
Qe 99ad qsd g1 ‘FRoT ff T § Hifh 39 TER &
WY § i o & SEvEEd A 81 3 i &9
¥ du= < § fagm § 39 Tuigen aren iy 994 @ O
21 fahg FROr, ‘s’ F1 W A T @ 2

Iy RG e w=-TiT @
ATAYAHAT BidT B

hael T ®Y | Twe 9N
o & fam= d S uraEt o

e | 2

In the light of the above statements, choose the
most appropriate answer from the options given
below:/ wUT H -'-H% ﬁ'g ™

forredl o @ TR m ST &7 = it —

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3t (R) |
Td § 3R (R), (A) F 98 =AW 2

) Both (A) and (R) are correct but (R) is NOT

the correct explanation of (A)/(A) 3R (R)
Ml T § WA (R), (A) F TE AR T 2
A) is correct, but (R) is not correct/(A) gl
g, el (R) &1 &l 21

(d) (A) is not correct, but (R) is correct/(A) Tal
T g, ?rﬁrrr (R) T& 21




Scientists should put aside, their personal beliefs
and biases and see the world as it "really" is.

Which one of the following philosophical

ositions supports the above statement?
gmﬁﬁﬁ @t U+ ot fagmar ofv smugl =t

U 3T &Y gi-ar &t a9 & @1 ey St
gg ‘araa’ ® g faeafafga @ 9O @ o

Wit rafitafa Iuh I & TudT FdT g2
(a) Constructivism /AdAAIE

(b) Inductivism /3FTHATHG AP

(¢) Positivism /HcF&dIq

(d) Post-positivism /3TL-HH&dIS

NTA UGC NET/JRF June 2021(27-12-2021 Shift-II)




Scientists should put aside, their personal beliefs
and biases and see the world as it "really" is.
Which one of the following philosophical

ositions supports the above statement?
e e

Uah 3T &Y gaT &l O & ST wnfgu St
9% ‘graa’ ® g fAefaiad § § i o
T9TT-Teh TaftAfe IUATH FIT T THAT FAT &7
(a) Constructivism /g4I

(b) Inductivism /3FAFHATHS GG

(c) Positivism /93&d |~
(d) Post-positivism /3TL-TH&TdIS
NTA UGC NET/JRF June 2021(27-12-2021 Shift-II)

_Elo_o . %J v ||E

- -
Ans. (¢) : SHIGE GI90-deh AGRga =g ‘ITi-ahi ?Inzf i A —~
31g+a fAsit faarai siit stEr = w37 & gfaar = 39 Easy Notes 4u || —
> I Online Study ‘:Y

Hifer a8 =HAa hael o hel Sca=idie ohi  gfIsger st
gfiarfea = afofa sswar 8 Sar 5 sou=aeE uss 9=
srrenfia arsafassar shi Sarar 21




The positivist researchers consider reality as

HWhNTH: JMeTehdl dR<ielchal ohl fohd ©T H
@A &7

(a) Subjective/fa¥af® (b) Objective/a&q TS
(c) Neutral/dZ¥ (d) Insigniﬁcantfﬁ'{ﬁ%
NTA UGC NET/JRF June 2021(04-12-2021 Shift-II)




The positivist researchers consider reality as

HWHNTHS IMeTehdl araieachal ol fohld ®T |
A &7

(a) Subjective/fa¥af® (b) Objective/a TS
(c) Neutral/dZ¥ (d) Insignificant/fRIH

NTA UGC NET/JRF June 2021(04-12-2021 Shift-11)

ns. (b) : FHNHE VIehdl Al Hl TS

A

§ 3@d § Hife 346 oER o A I fm @&
A2 ¢ 98 ATl ar Tarsr § HHNo 8| gE v
H, vivsdl e _aHe favess @ iR a8 e &
Hare | safthTd gedt 9 g &9 oar 8

s —J
Easy Notes 4u I _T;
Online Study ‘:Y




Match List I with List I1:
=it 19 gt 11 @ e s

List I/Z=T 1 List umj’r I

(A) Positivist/ (l) L. Thompson/TeT.

(B) Interpretn e/ (ll) Stuart Hall/ &

(C) Critical/ III_ Max Weber/

THITH

(D) Feminist/ StaTar (ly) Auguste Comte/
I IS

Choose the correct answer from the option
given below:

Frer fou T faeheul ¥ W WE 3 @ 99T S
(@) (A)-(D), (B )- (1), (C)-(IV), (D)~(11I)
(b) (A)-(ID), ( (III} (O)-(1V), (D)~(I)
(c) (A)- (_III). )- (IV), (C)-(1), (D)-(11)
(d) (A)(IV), (B)- (III), (C)-(1I), (D)~(I)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




Match List I with List I1:
=it 19 gt 11 @ e s

List I/Z=T 1 List 1I/3=HT 11

(A) Positivist/ (I) L. Thompson/TeT.

(B) Interpretive/ " (II) Stuart Hall/ ¥
T TcHeh v ‘ E'TT'T

(C) Critical/ NUII) Max Weber/
harre — P [ e

Ans. (d) : Tt T TE gHEA 3T THR 3
BISECIC I H
T de

w3 Bl
Tel. I

s

(D) Feminist/ > (IV) Auguste Comte/
ITE e
Choose the correct answer from the option _ -
given below: L 8- 8 =5 & =
Fror fou T foeeat W ¥ WE IR @1 99 St o~ —
(a) (A)-(1), (B)- (1), (C)-(1V), (D)-(111) RSV ChOteC S U
Online Study ‘:Y

(b) (A)-(ID), (B)- (I1D), (C)(1V), (D)(1)
() (A)-(D), (B)- (IV), (C)(D), (D)-(I1)
(d) (A)-(IV), (B)- (111), (C)(11), (D)(1)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




During research when we avoid speculative and
metaphysical approaches and instead concentrate
on studvm observable facts, it is called:

T W WHEES 3w difcae
q@aﬁvﬁ%aaﬁ%aﬁtﬁmﬂuaﬁrmm%ﬁaﬂ
& g ar 20 Tafafiaga & 9 @ @ s g

(a) Feminism /ARIATE
(b) Ethnomethodology /JSTdiaR

(c) Constructionism /HTGTHAI
(d) Positivism /fZaTcHSAT
NTA UGC NET/JRF June 2021(28-11-2021 Shift-II)




During research when we avoid speculative and
metaphysical approaches and instead concentrate

on studvl bservable facts, it is called:
g\wr Td W HHEIEE X difcaes

q@aﬁﬁr B
Hd g ar =0 Tafefiga o 9 == gt 9T

(a) Feminism /AREE

(b) Ethnomethodology /7STdie=RT—

(c) Constructionism W

(d) Positivism /FgIHHAT

NTA UGC NET/JRF June 2021(28-11-2021 Shift-II)

Ans. (d) : ¥ & Sa g9 HHEHS 3R dlfeadh T8 Ey &%
gyl 4 sud & 3R Jeofg qedl W e Sad W 8 o~

a‘rgﬁﬁmmm%lmmﬁ : EasyNotes4u.g
@Tﬂﬁﬁr _ Hﬁﬂﬁgﬂﬁﬂ(ﬂ A 'éﬁﬁ . Online Study "

el 3R dd & HEgH § HHd HaeR & 9ad 3Tl
quer Bifae & ST Gt 2|




Positivism as an epistemological program is

characteristic of/ FTAHIATAT HIHHT o ®©T W
geeTaTe fehdent fagrear &2

(a) Social sciences/dmISieh fag™

(b) Performing Arts/S&¥9 el

(c) Natural sciences/hidd foH
(d) Legal studies/faftr 3reag
NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)




Positivism as an epistemological program is

characteristic of/ FTAHIATAT HIHHT o ®©T W
geeTaTe fehdent fagrear &2

(a) Social sciences/dmISieh fag™

(b) Performing Arts/SE3F FHeAd

(c) Natural sciences. % foqH

(d) Legal studies/fafte 3reae

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)

o) : THEE FRHT & ®Y § Nouedg WHidd T ety o
formr <t fersioar 21 Sogerae &t gfad qfy aur qe : 7——']J«
SR # W 39T % Sid GhRIcHSDAT TR S ST a9l o study DI
@gmﬁﬁ@ﬁm%mm%m W
g 21




In a research setting, participants may act
differently because they think they are getting
special attention. This reaction of treatment
group to the special attention rather than the
treatment itself is called as.

T ier URayr o, gfawnft firth 39 ST 3temT
TE U g & Hahd ¢ aileh 3¢ oNTaT § feh
3T UT fagiw oo fear = T ¥ e’ @t
Tud favie s & wia Suenfia 9ug o 98
Tdid T HgATaT 82
(a) Hawthrone effect/ET JTTd
(b) Attention deficit/&aT= &l FHHT
(c) Jung effect/gm T91G
(d) Marlov effect/ARAET T919

UGC NTA NET/JRF Shift - 1, set-7 21 Dec 2018




In a research setting, participants may act
differently because they think they are getting
special attention. This reaction of treatment
group to the special attention rather than the
treatment itself is called as.

Tk 9Ier Uiiaor o, Ufarwrit fiads 23 sheuT 37T
TIE O SOOe ohi dchd & adifeh 3= orarT & foh
I Uy fage = faar =7 @1 8 SOagi ot
T favie o & wia Su=nlRa 9ug o»r 98
qJaTS T ShedATar g2

(a) Hawthrone effect/8d= S99
(b) Attention delicivsarT sl har—

(¢) Jung effect/FIT THT
(d) Marlov effect/ARaAd I919

UGC NTA NET/JRF Shift - 1, set-7 21 Dec 2018

Ans.(a) : @Wuﬁaﬂﬁﬂﬁwﬁﬁtﬁsﬁww
TE O a8 &L hd @ Hifeh 3= oiar g, f&6 39 =
%wwﬁmwwmwaﬁw%w%
g SUEad 998 &1 I8 adid g 9 el 2 |

— TP T9E UH YR HI YIiag 21 F@ FANES
uﬁﬁaﬁwﬁﬁaﬁméwﬁmm%maﬁ
T JASAl o 9R H gd SITHehiI Wadr & |




= & "g=uw fau w ¥ -

” erferet

T==T-1) ammwmmn—zﬂr
1) ST aa=ad ot Tiaen= & a1 9t 397 ot

=T il
Set-1

Set - 11

(3TgEuT= fate (U HehcTd 3UShU)

(A) Experlnlental method 1.
TANTcHS fafe

Ex | ost-facto method 11.
fafer

Descriptive survey  1il.

method

faaoTass gd=ur fafy

Historical method 1v.

sfagarerss (Tfeias)
fafer

Codes :

A B C D
(a) 11 1 11 1v (b)
(¢c) 11 11 1 1v (d)

Using primary and
secondary sources
BIR I C DI FGIRE Y
Hrdl =T 3UAT
ch{Al

Questionnaire

RIS

Standardized tests

bl aded

Typical
characteristics

tests/faere
37farereroT gdemd

A B C D
1 v 11 1
11 1v 11 1

UGC NET/JRF 22 Jan 2017




Hrer I Aag=u ﬁ{u;wq% srgEa fafarat
(FH=<T-1) daT U HahAd SUhIUT (HH=<IT-
ll)aﬁtﬁmwﬁmaﬁwnﬁwm
=TT hil
Set- 1 Set - 11
(3TgEuT= fate (FST Hehotd 3UchiUN)
(A) Experimental method 1. Using primary and
TS fafy secondary sources
gt a1 fedrass
Hidl T 3T
HEAT —
Ex post-facto methofd . Questionnaire

fafer EREIC

Descriptive survey 11. * Standardized tests

HiHehichd qd&d

faauTcHes Gdegur fafer
Historical method iy. \ Typical
sl?lqmrl-lch (Qﬁlﬁﬁ!ﬁ characteristics
tests/fareme E
% asy Notes 4u
3ATTeTeIuT gdea :

Online Study

\w/ABCD
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(Research types )

Set-1 Set-11 (Nature and

Characteristics)

| qa=ua-11

(INET & UehT) (INET & @R qe
fergraad)

Experimental 1. Generalizations follow
Y rather than precede the
observations in due course

SeTUT o Y H QT
qd ®9 # 7 g 999 &Y
T fafifa g &)
Exports facts 1. Emphasizing the access
research to reality by sharing the

HEATR MY prespectives of people
AT

FI e F g¢ FuY
1 AT W a1

Ao g-1

Participant

observation retrospective analysis

based research gygadl faveser g

Teyrft Steror

FRHIF q dF T8
3T oy o

D. Grounded

ii1. Getting at causal facts by

iv. Describing the status

theory approach and conditions as

based research obtainable

aﬁnmﬁﬁmmﬁmﬁﬁr

S fagia
YN 3TETRA
e

Controlling the
extraneous variables
and observing the effect
of independent variable
manipulated by the
researcher on
dependent variable
el 94 o A §
wEd gu At = A
TNl R 2T-UR AT
YT = W g4 ad
JOTd HT J&IT HET
Code/ene:
A B C D
(@ 1 um ouo
(by i m v v
(¢) m 1 v 1
(d v m 1 1
UGC NET/JRF Shift - 2, set-10 22 Dec 2018




. Grounded iv. Describing the status
Set-1 Set-11 (Nature and theory approach and conditions as
based research obtainable

(Research types ) Characteristics) 1k =T T B R
Ellgl e d-1 Flﬂt-alﬂ-ll wd =enadl &1 fagwer 24T
(FﬁET a; ch ) (Sﬁaa; : E* E . Controlling the
ﬁﬁﬂﬂm extraneous variables
) ) o and observing the effect
Experimental 1. Gtneralizations follow gf;:;lidil;g?e%egt ‘;ﬁgable
Yy ather than precede the < e
1 1 dependent variable
obser\é:ltlons éin due course e
ﬂ&IUI R IEILI e wad gu fAufsa =< o
f aa,—{ qyyg Tl S 8- AThT
qﬁ w9 H F 4 ST =X 9T 9=+ a1

Exports facts ii. Emphasizing the access B - B
research toreality by sharing the [l @ i+ & & o
FHIATR MY prespectives of people b3 = &
- C 111 1 1V 11
p— 3 Afhal & e A v i i i
ﬁ W a_’—{-a @ m UGC NET/JRF Shift - 2, set-10 22 Dec 2018

AT R T e

Participant ii1. Getting at causal facts by IEEAER TR
observation retrospective analysis (a) SR whe

based research gygadl faveser g
HEr S FHE qL qh T
3T Y




Which of the following statements best reflect
the meaning and characteristics of research?
Select from the code to give your answer.

frafeafiaa § ¥ S9-a1 9 i & e ofw

fagtaanasti =t waifires I 340 ¥ gfafafaa

AT 22 fau g e ° | 3rg=r 3w gt

(1) Research means challenging the status quo.
vy 1 3wty # 9 23 @ 2
Research 1s an endeavour to collect facts and
information. / Y =81 3R g1 F @0
HT TH 5919 2|
Research 1s a synthesis of deductive and
mmductive processes. / iy frmEeEs 3R
AT S Sfharsii &1 U dvauor 2|

Research means proving one's assertions and

beliefs. /7 9 & 37 3794 =G 39 3mEr=dl
FI S0 HET 2

(5) Research 1s a careful review of reported

studies ; 9y wfafeq s=maEi &1 oS
qEyFgds gdftem 21

(6) Research 1s a cnitical and passionate search

for knowledge. / g < & TH THETEHS
Td wragef @ 21

Code : /<h€ :

(a) (1),(2) and (3) (b) (2), (4) and (5)

(c) (1), (5) and (6) (d) (1), (3) and (6)
UGC NET/JRF Shift - 2, set-2 18 Dec- 2018




Which of the followi tat ts best reflect - ;

the meaning and characteristics of research? [ADS. (d) 3R Th TH S6ar &, o @ret st

Select from the code to give your answer. T a1 M é; 5o fassat 3t 39gifiET ‘5"5[’ I H

ﬁn%ﬁgaﬁﬂaﬁ#—mm?hu%aﬁam g@aﬁm,m%msﬁmﬁaﬁ,m%m
RIS B a°1 A i e FIEIel a1 §eh | Y &

Res:carch means challenging the st':tus quo. Eqé?ﬁ AT % EE 10 Yy & 74 T ﬁ'ﬁ'ﬁl?mf qaH arct
Wiy @1 37 quiiefy # g 233 F 8 % frafala 2-

(2) Research 1s an endeavour to collect facts and El:ﬁ_rﬁ
information. / ¥ Tzl 3R g==r F dz@wr ~m Wy 1 3 Fenfefa ¥ 2

— d@)?ﬁﬂﬁﬂﬂﬂmaﬂ?mﬁmﬁa@mﬁm@
(3 Research i1s a synthesis of deductive and W@'EWT%|

mmductive processes. / ‘Qﬁﬂ formaes 3k > -
s g B WY I I U s wd grEaqel @i 2|

(4) Research means proving one's assertions and
beliefs. / ¥ & 374 39 ST 39 S
H JIfoTT HET 2

(5) Research 1s a careful review of reported

studies ; 9y wfafeq s=maEi &1 oS
qEYgEgES e 21

(6 Research 1s a cnitical and passionate search
for knowledge. / Y9 T & TH THETEHS Eg:%:‘:;i:d“u
wd wEgef @ 21 !
Code : /<he :
(a) (1), (2) and (3) (b) (2), (4) and (5) /
(c) (1), (5) and (6) (d) (1), (3) and (6)
UGC NET/JRF Shift - 2, set-2 18 Dec- 2018




Identify the features of empirico-inductive
paradigm of research.

JITELTT oh IEATIWiaeh ANTHATHS  Wiaar=
it favraarsTt =t fafga i

(a)

(c)

(d)

Research i1s concerned with the process rather
than simply with outcomes or products

FATEYE & oy ufhaT 9 @ 7 fF fad gfomst
3TgaT IRl o

Based on logical positivist philosophy which
assumes a single objective reality

difshes Yoetarer =99 O THfYT ST usd
I TATHSE arAfdshal S HI=0dT 9T 371iRd 2

Researchers are concerned with what are
called ‘participant perspectives’/3THHASHAl
Attempts to establish universal context free

generalizations/JUT HaHgwh QHET=ATHIUT 10q
LA HT T HLT 2 |

Choose the most appropriate answer from the
options given below:/ et fau 7o faemcat ¥ &
TEH IUTTH ST ohT 9d= Shiled:

(a)
(b)
(c)

(A) and (B) only/ahaal (A) 37X (B)
(B) and (C) only/&had (B) 3T (C)
(C) and (D) only/aast (C) 3R (D)

(d) (A) and (C) only/&Had (A) 3R (O)
NTA UGC NET/JRF June 2021(22-11-2021 Shift-1)




Identify the features of empirico-inductive
paradigm of research.

JITELTT oh IEATIWiaeh ANTHATHS  Wiaar=
a—ﬁf&ﬁumaﬁa—?rﬁx%ﬁaﬁﬁaq

(a)/Research 1s concerned with the process rather
than simply with outcomes or products

ATEYE F Gay ufekar ¥ 2 7 5 fadk gt
3TgaT IRl o

(b) Based on logical positivist philosophy which
assumes a single objective reality

aﬁﬁ YaTel <99 O gufda S U
areafashar S O=aT 9% 3qeTRa 2
(c Researchers are concerned with what are

called ‘participant perspeetives’f-ﬂﬁﬂﬂaﬁf
‘sfequrft oftes’ & wfa sma= gmr 21

(d) Attempts to establish universal context free

generalizations/JUT HaHgwh QHET=ATHIUT 10q
LA HT T HLT 2 |

Choose the most appropriate answer from the
options given below:/ H=r fau o faereat 7 &

TEH IUTTH ST ohT 9d= Shiled:
(a) (A) and (B) only/&had (A) 3 (B)
(b) (B) and (C) only/&aa (B) 3R (C)
(¢) (C) and (D) only/aast (C) 3R (D)
(d) (A) and (C) only/&Had (A) 3R (O)
NTA UGC NET/JRF June 2021(22-11-2021 Shift-I)

Ans, (d) : WEIF{
forgro st @
(1) FHY &1 Gy S § 2 7 f ok ofom) spern

I T

2) a@#mwﬁﬁaa%qﬁ-mém%
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With the help of Ogive curve we can find :

3N ah iz’t T UTH & Hahd § :
(a) Median/ATfeaan

(b) Deciles/ a¥H%
(c) Percentiles/TTdHh

(d) All the above/39Uth it




With the help of Ogive curve we can find :
NS Ik | &0 U o 9hd © -

(a) Median/ATfeaan
(b) Deciles/ a¥H%
(c) Percentiles/TTdHh

(d) All the above/39Uth it

_El_of & = J =
| Easy Notes 4u I _—[;
i Online Study ‘:Y




A project is especially different from
theoretical research in :/ Uch

IgEY ¥ favw vy ¥ firs 2
(a) Writing format/@@= S&q |

(b) Data collection/37ihe TaHATHT |
(c) Applicability of findings/ 78T I FAISHR H

(d) Methodology/3tIgur fafer #




A project is especially different from
theoretical research in :/ Uch

(a) Writing format/@@= S&q |

(b) Data collection/3T&hg TahAraUT |

(c) Applicability of findings/ F&H8T I ¥ i
(d) Methodology/3tIgur fafer #

_El_oi & _:J ® llg
| Online Study ‘:Y




The research method used in Census in 2010 by

Government of India was : i )
U TIhT §RT 2010 h STAUAT § 31HT

st fafr g &t T
(a) Case study method/aafth 37&ad4 fafer

(b) Survey method/ddeyuT fafey
(¢) Experimental method/SaTTeTs fafe
(d) Developmental method/ fasmarss fafy




The research method used in Census in 2010 by
Government of India was :

WA TIhT GRT 2010 Y STTUET § ITTHUT
it fafer g &t 78 -

(a) Case study method/aafth 37&ad4 fafer

(b) Survey method/gdeyur fafér

(¢) Experimental method/SameTss fafy

(d) Developmental method/ fasmarss fafy

_El_"i & _:J LT
B Easy Notes 4u I _—[;
I Online Study ‘:Y




Field study i1s related to:

Wice & e ferad Heiferd g2

(a) Real life situations/arfas e frafadi @
(b) Experimental situations/STaifies feafaai 9
(c) Laboratory situations/srarTeTen fRafedi 9

(d) None of these/ZH q &g T8




Field study i1s related to:

Wice & e ferad Heiferd g2

(a) Real life situations/arfas e frafadi @
(b) Experimental situations/STaies feafedi T
(c) Laboratory situations/srarTeTen fRafedi 9
(d) None of these/3AH | &g e

mmmmmﬁmwmﬁﬂw
Ha: F arkdfadh Sfam &t fafadi @ gwfea )




Which of the following is NOT wusually
associated with the psychometric testing?

faafafiaa ¥ ¥ @9-91 AR ¥ 9igaiiies
whem & 731 761 17 °/

(a) Factor analysis/&Ra fagesor

(b) Attitudes/gf¥ahIuT

(c) Case studies/Hd T

(d) Concern with precise measurement/d<ish HIY
& 91y fdiar

a* & _:J
§ Easy Notes 4u I _—[;
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Which of the following is NOT wusually
associated with the psychometric testing?

faafafiaa ¥ 9 @=-91 ud ¥ ggaiies

e & 3 6 27

(a) Factor analysis/&Ra fagesor

(b) Attitudes/gfFahIuT
(c) Case studies/Hd T v

(d) Concern with precise measurement/d<is HIY
& 919 fa

Ans. (¢) : @ HHiCH T T Tl JeT 8 e
Y W U Afth, THE_A LAl H TeA AT | Th 39
wd #, 50 @ wea 1 ofth & gen aeaTd e 3US
FaER & aR H T A S 2| USHvH, 6oy, F,
nfeder e &t o &9 2SI i I g




'Longitudinal Studies' are a type of:
e LT Ueh YehI Ght:
(a) Historical Studies/3faeifie 31ega4 21

(b) Survey Studies/TdeIT 37€99 2 |
(¢c) Developmental Studies/[ShTaTds a4 o
(d) Philosophical Studies/aTsife 37994 2 |




'Longitudinal Studies' are a type of:

e LT Ueh YehI Ght:

(a) Historical Studies/tfdeis 3rega4 2|

(b) Survey Studies/Td&uT 3TET %I

(c) Developmental Studlesmml_rﬁ'm’ HETT & |
() Philosophical Studies/aTsife 31437 81

Ans. (c) : Fed  FHIH TH e Fc'—:ng:r'g forg

Tﬁl_oi & _:J =
| Easy Notes 4u I -
i Online Study ‘:Y
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What type of research includes surveys and
fact ﬁndmg E-F%IH'IES of different kinds? \O\

gUT Ud dex Wiweh Wid @ =
W%?

(a) Analytical/ favemomaTs

(b) Fundamental/ H{cT4d
(c) Descriptive/ faaa-a

(d) Empirical/ SAqHdTHS




What type of research includes surveys and
fact finding enquiries of different Kinds?

It PN WAMUT U deH WiWeh Wie cht
Tk 27
(a) Analytical/ fayersueTs

(b) Fundamental/ He14d

(c) Descriptive/ W

(d) EII][J]I‘ICHU aili‘lﬁlm

Ans. (¢) : [gd9ais® a1 guiArI® (Descriptive) M9
Gﬁmﬁmmaﬁmmalsﬂsﬁaaﬂm

71 At FEYH F HEd agd A0 2 |




Which type of research encourages

participant's &erspectwe"
fra Wi " yifaunf-ufuem ot

TreaTiee feRam SraT 87

(a) Ethnographic method/JSITdr™ NI

(b) Historical research/RfdRT e Iy
(¢c) Exegetic research/aarddTcHs NIE)
(d) Experimental research/SARTcHe I
NTA UGC NET/JRF June 2021(20-11-2021 Shift-I)




Which type of research  encourages
partlupant‘ &erspectwe"

o gfaurf-uRass <t
‘s‘ﬁ?\q'rl%?r ferarT <TaT 82
(a) Ethnographic method. | Eﬁ‘a\/

(b) Historical research/Gfagae sy
(c) Exegetic research/aATHATHS e
(d) Experimental research/SaTcHh ITe
NTA UGC NET/JRF June 2021(20-11-2021 Shift-I)

Ans. (a) : FIE AT U (G99 FHR & ONHS 914

2 foas siafa fueh ag, af @1 d=fa @1 famRa
g fear sar 21 398 sfaurft & oftes &t Sicges
e a1 S 21 39 IR & 3AEgT § igsdl <@g
sfaurft saax aeqef dfa &t 993 ud Sgaidd
HT Ja19 FT 2|

-« J &£
Easy Notes 4u I =
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aﬁqm%?
() AT/ (b) TH. IS

(c) . sea9 (d) 110 29
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The characteristics of scientific method
research are

YIET ohi aATIeh fearfer oht fergrerar &-
(1) Empiricism/39ddIq

(2) Objectiveeityawf-sdl

(3) Systematic/Heaafdd

(4) Secretive/TMUHI

(5) Security related/qw ¥ Fafed
(6) Predictive/afasagash
'@E:
(a) 1,2,4 3 5 (b) 3,4,5 3R 6
(c) 4,5,6 3R 1 d) 1,2,3 3 6
UGC NTA NET/JRF Shift - 1, set-7 21 Dec




The characteristics of scientific method of
research are

Yiver Gt AsTfren fafer oY fergren 3-
(1) Empiricism/39ddIg

2 Objectweeltvaﬁﬁ%m .

3) Systematic/qeadftad .~

)
)
4) Secretweﬂﬁq'rﬁﬂ
)
)

5) Security related/qET o gt
6 Predlctwe/ﬂﬁw <

(
(
(
(
(

(b) 3,4,5 3 6
d) 1,2,3 SﬁI 6 || Easy Notes 4u
GC NTA NET/JRF Shift - 1, set-7 21 Dec 2018 .| Online Study & -




Which of the following methods of acquiring
knowledge saves time and effort on the part of

the researcher?

IRl o fo 7= wifta @t fafaanr @ @
frifera @ &9 U ¢ S 90T T g &
® | faerEt g2

(a) Method of experience/319d &l fafey
(b) Inductive method/3TRTHATHS fafey
(¢) Deductive method/fTH-IHS fafy
(d) Method of consulting an authority/fehd
Tt @ wamet &t fafy
UGC NTA NET JRF June 2020 (25 Sept.) Shift-11




Which of the following methods of acquiring
knowledge saves time and effort on the part of

the researcher?

vieeRdl o fou F= wifta ot fafisn & @
frifera @ &9 U ¢ S 90T T g &
® | faerEt g2

(a) Method of experience/319d &l fafey

(b) Inductive method/3TRTHATHS fafey

%ﬁductive method/fAmH=TeHs fafyr
d

ethod of consulting an authority/fehd

it § qumst &t fafy
UGC NTA NET JRF June 2020 (25 Sept.) Shift-11 —sae g__J ~
e e e — = ||| =
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| Easy Notes 4u I -
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INT  Ugfaar : YIANHSR
feraremer  yner  (Methods  of

Research : Experimental)




Given below are two statements, one is labelled
as Assertion A and the other is labelled as

Reason R/ fier &1 = feu 1w € : u=
TR (Assertion A) oh BT T 2T AT STh
ShIUT (Reason R)%-T L k=

Assertion A : In experimental research, the

effect of independent variable is examined on
the dependent variable.

AfTHTT (A): UTHMITeR I W T@aA =X ok
QT il SI=l O3a s =¥ U hi ATdT 81
Reason R: Causal relation between two

variables can be established only by the
experimental method.

SHITUT (R): ST =1 oh Sii=r Sh1IUT Heel UTAiiTeh
WO 5T Tmfua fehar ST 9<hart 81

In light of the above statements, choose the
correct answer from the optlons given below

THAAT oh TR, o rer fo2r faresear o
| TE IET w1 =TT HITHAT :
(a) A 1s false but R is true
(A) 379 2, 9% (R) 9 2|
(b) A is true but R is false
(A) ¥ 8, 9% (R) 379 2|
(c) Both A and R are true and R is the correct
explanation of A/ (A) 3T (R) & ¥ & 3R
(R), (A) 3 T& == 2 |
(d) Both A and R are true but R i1s NOT the
correct explanation of A/ (A) 3R (R) 24t
g € 9 (R), (A) 1 T =ar=an =&t 2
NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)




Given below are two statements, one is labelled
as Assertion A and the other is labelled as

Reason R/ fi=r @f =g fau @ € : uwa=
TR (Assertion A) oh BT T 2T AT STh
<h1ITUT (Reason R) & w|UH :

Assertion A : In experimental research, the
effect of independent variable is examined on
the dependent variable.

AfTHTT (A): UTHMITeR I W T@aA =X ok
QT il SI=l O3a s =¥ U hi ATdT 81
Reason R: Causal relation between two

variables can be established only by the
experimental method.

SHIUT (R): ST =11 ok = ShiIuT Haer UrAiiiteh
WO 5T Tmfua fehar ST 9<hart 81

In light of the above statements, choose the
correct answer from the optlons given below

HAAT oK 3ATeTeh, o H=r fa=r

| TE IET w1 =TT HITHAT :

(a) A 1s false but R is true
(A) 3794 2, 9%q (R) ¥4 2|

(b) A is true but R is false
(A) ¥ 8, 9% (R) 379 2|

(c) Both A and R are true and R i1s the correct
explanation of A/ (A) 3T (R) & ¥ & 3R
(R), (A) & T == 2
Both A and R are true but R i1s NOT the
correct explanation of A/ (A) 3R (R) 24t
g € 9 (R), (A) 1 T =ar=an =&t 2

NTA UGC NET/JRF June 2021(27-12-2021 Shift-I)

UG FI S19 Wad 9 W S Sl 2

3 T % o9 HRUT a9y RWINT HT 2 6 S
uﬁaﬁ?@iaﬁuﬁaﬁ?mwwalma‘raﬂ
& TET HIUT Hay YA Y S HROT T8 2|
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Given below are two statements

Statement I : In the 'before-and-after without
control' design, a single test group or area is
selected and the dependent variable is
measured before the introduction of the
treatment.

Statement Il: In the 'before-and-after with
control' design, two areas are selected but the
dependent variable is not measured in both the
areas for an identical time-period before the
treatment.

In light of the above statements, choose the
most appropriate answer from the options
given below

= @ wa feg T €

wAA-1 : T & foar ud-ain-ugr ' fesmg=
T, Teh Ueho! UHSTUT WUE o7 &1 oAt wra= fehar
AT § 3R SUSR o W g ¥ gd vt ww
hT |TUT TeRarm e 81

w1l : ‘fEEw & Wy gd-sin-ugn’
feame= ®, o &=t @1 s fwan ST € W
SUTR ¥ Ud, ST & & § Ueh WU Iaf &
foru fasft = @t Ao =€ fepam wmar §)
SUITh HAAT & 3Teres o, e feu o faencat
T | HaH IUYThH I T oId I

(a) Both Statement I and Statement II are

correct/HIF 1 3 11 a1 el %'I

(b) Both Statement I and Statement II are
incorrect/HIT 1 3R 11 ST TeAd & |

(c) Statement 1 is correct but Statement II is
incorrect/Fo 1 T&l 2, fobeg F9= 11 e §

(d) Statement I 1s incorrect but Statement II 1s
correct/&HIT | TTad g, foReg = 11 W& gl

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




Given below are two statements et gt @ fou e g
Statement I : In the 'before-and-after without wuA-1 : FresT & foar ud-ain-ugme’ fewmg=

control' design, a single test group or area is o, Uch Uehel ULIRTUT THE AT &= Rt T fera

selected and the dependent variable is AT JU=TT . fraft
measured before the introduction of the %aﬁ-{ a;a"[”@ﬁﬁgﬁ =

treatment. T |TOT TeRam STaT §)

Statement II: In the 'before-and-after with w11 : ‘faesor & 9Ty Tg\'cf-aﬂ'{'-ﬂ'ﬂﬁ'
control’ design, two areas are selected but the fesmga ®, @ &t w1 oI fawar Smar § W

dependent variable is not measured in both the ; e
areas for an identical time-period before the SRELE uex_q;’ EEl & Teh WA A &

treatment. m ﬁl“ﬁ'{' =T <hl ATUA NIGL %l
In light of the above statements, choose the IUATH HIAT o ATk |, ﬁ%ﬁqnqﬁm‘r
most appropriate answer from the options f .
givenhggwp p o W WEW IUYTH IO T ST T
(a) Both Statement I and Statement II are
correct/HIT 1 3R 11 2T Tl &
Ans. 1) FI9-1 91 & Hifs 98 Hoa FEEw & o (b) Both Statement I and Statement II are
qéaﬁ(q%%ag:[ 3 gROT @ 2 incorrect/&¥T 1 31 11 2T Teid 2|
FI-Il Tad @ i a9y T 3k iR U] ¢) Statement I is correct but Statement II 1s
%ﬁﬁ?ﬁﬂﬁﬁﬂwmmgaﬁiﬁﬁrwm incorrectﬁ%lﬁ%%ﬁ?ﬂ?llﬂﬁﬁ%l

(d) Statement I 1s incorrect but Statement II 1s
UL X ol HIUA | I
KK Sl & correct/HIF 1 TTad 7, foheg &9 11 W&t B

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




A scientific approach in social science research
should take into account-

AR fasm= oner ®§ asmfaes Sume # feR
STl ST AT TEAT TTET?

(A) Metaphysical elements/dcaH AT Taad
(B) Spurious relations/3TqHTUTeh Haier

(C) The factor of co-variation
HWE-UadT ol hileh

(D) Time order/eaTcT shH

(E) The possibility of theorisation
' Shi TUTEAT

Choose the most appropriate answer from the
options given below:/ Hrer feu @ fareat 7 &
TET 3T T = ST :
(2) (A), (B), (C) only/®dd (A), (B), (C)
(b) (B), (C), (D) only/Fad (B), (C), (D)
(¢) (C), (D), (E) only/&ad (C), (D), (E)
(d) (A), (B), (E) only/&ad (A), (B), (E)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)
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A scientific approach in social science research
should take into account-

AR fasm= oner ®§ asmfaes Sume # feR
STl ST £aT TET STgu? —
(A) Metaphysical elements/Sca oI TaTd
(B) Spurious relations/3TqHTUTeh Haier
(¥ The factor of co-variation
Hg-URad= &l &l
M ime order/chlc chH
S;)r The possibility of theorisation
THGTATaRIuT et T9TEAT  ——

Choose the most appropriate answer from the

options given below:/ =fer fau v faeweat # &
T 3T T ST T

(@) (A), (B), (C) only/&ae (A), (B), (C)
(b) B), (C), (D) only/aae (B), (C), (D)

oY’ (C), (D), (E) only/@ad (C), (D), (E)
(d) (A), (B), (E) only/ad (A), (B), (E)

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)

Ans. () : Wﬁﬂﬁmﬁﬁmﬁmm

Wﬁmwﬁwanﬁwm@ﬁzﬂmaw%




Given below are two statements :
Hrer 3 o= fou o §:

Statement I: Manipulation and control are two
important possibilities in natural science
research.

HAT |: TR 307 Forsror yrehferen fagm ® o
@t g HEqul WTa-TE &

Statement II: Not many phenomena can be
manipulated and controlled by social scientists.

HAT 1I: 9uTe faFr=al gRr ohe wedrs T v
BT 30T forsrr 7€t feram =T wehar §1

In the light of the above statements, choose the
correct answer from the options given below:

SUTh YT o el W, e fqu 7o ferameat
ﬁﬁ'ﬁ’é’rmwwaﬁﬁq

(a) Both statement | and statement Il are true

FIF [ AR 11 A1 9 2

(b) Both statement I and statement II are false
HI9 1 3 1] I 319 2 |

(c) Statement I 1s true but statement 11 1s false
29 [ 99 8 wifchd H9 11 37T 2|

(d) Statement I 1s false but statement II 1s true
o | 3T 8, WAl Ha 11 9 2|

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




Given below are two statements :
Hrer 3 e fou o §:

Statement I: Manipulation and control are two
important possibilities in natural science
research.

Ans. (a %Tﬂﬂ S yEhE fae § my @ 9
dernk {3 70 A A o A o

T IHHMIdMﬁ%ﬁT{GhH 369 2 et @

T fogm Wy & ol fown § 3w R {6 2

Hﬁ:%ﬂﬁlﬂ%ﬁﬂ?llﬁ@%l _

HAT |: TR 307 Forsror yrehferen fagm ® o
@t g HEqul WTa-TE &

Statement II: Not many phenomena can be
manipulated and controlled by social scientists.

HAT 1I: 9uTe faFr=al gRr ohe wedrs T v
BT 30T forsrr 7€t feram =T wehar §1

In the light of the above statements, choose the
correct answer from the options given below:

SUTh YT o el W, e fqu 7o ferameat
o W AE ST @ uEA Hﬁ'ﬁﬂ'l{
Both statement I and statement Il are true

FI9 1 3 11 241 99 21

(b) Both statement I and statement II are false
HI9 1 3 1] I 319 2 |

(c) Statement I 1s true but statement 11 1s false
29 [ 99 8 wifchd H9 11 37T 2|

(d) Statement I 1s false but statement II 1s true
o | 3T 8, WAl Ha 11 9 2|

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




Assertion (A) ; Doing Inter-disciplinary
research is more challenging than that in
within any single discipline.

AMTHAT (A) : 37T fawa oner &=r arfies
JAdgul §, TRl T oThel faud & 3t=aid
fer T g @t g W

Reason (R) : It is not possible to combine
knowledge from two disciplines.

HEUT (R) : o fawai & yna {719 k1 Has=T
e & gl

In the light of the above statements, choose the
correct from the options given below

SUITh & o Ies o, e feu o faemeat

H H HE ST &l 9ad Shitau :

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3R (R) @i
T 2 3N (R), (A) F & = 21

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3 (R) i
TF 2 i (R), (A) F &I e T 2|

(c) (A) is true but (R) is false
(A) §F 2 @i (R) 376 2|

(d) (A) 1s false but (R) 1s true
(A) 318 & dfh (R) T 2|

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)




Assertion (A) ; Doing Inter-disciplinary
research is more challenging than that in
within any single discipline.

AFTHRAT (A) : 3T fau=mr vmer =T 3Tfireh
FAgul g, TRdl Tk 3Tehet fawa o ar=aiiq

ferw w0 viter & gEAT EL

Reason (R) : It is not possible to combine
knowledge from two disciplines.

WU (R) : W q Y JE R A
Trd & 2l

In the light of the above statements, choose the
correct from the options given below

SUITh ST o el |, e fau o faweat
" W WEl 3T I FI HIT

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) 3R (R) @i

TE 8 AR (R), (A) FI F& A7 2|

Ans, (c) : 3T 3FYTEA WY 3MfEH AT My 71 3
Mamfamﬁﬁmﬂﬁaﬁwﬁﬁmmﬁ

mmﬁaﬁamaﬁmm%maﬁaﬁm
foar ST 21 31 :ﬂma:r%aﬁmwa%m

2| gafu fasey ,c)w%

(b) Both (A) and (R) are true but (R) 1s NOT the . & J R =
correct explanation of (A)/(A) 3R (R) el L .
2 | (R), (A) T T8 =mer = 2| Easy Notes 4u
ﬂ is true but (R) is false ;?— Online Study \—r

(A) T € dfT (R) 3/ 81—
(d) (A) 1s false but (R) 1s true
(A) 379 2 &ifhd (R) 99 2|
NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)




Statement I : Social scientists belonging to the
verstehen tradition do not accept the idea of
predicting human behaviour in mechanistic
terms./ AT (I): A=gT Tfer § Wialg WrATHNH
AT TR T==TaTel Ul B HIHd Sagl Jfarsraruft
& foom @ wier & & €

Statement Il : It is asserted that the main aim
of social science research is to promote human
understanding./ &I (II): Tg AgaUdeh wal

et & T wranforen forsm=r viver S29ar w=e arer
! WIedT & ST g

In the light of the above statements, choose the
correct answer from the options given below:/

IURITh R ok ATeler o, ot fau feorsreat & &
WE 3T T AT hifaT:

(a) Both Statement I and Statement II are true
&SI [ 3R 1] a1 T |

(b) Both Statement [ and Statement II are false
YA [ 3 11 SF1 319 &

(c) Statement I 1s true but Statement I1 1s false
FIT 1 §F &, AAfhT HI9 11 379A 2|

(d) Statement I 1 1s false but Statement II is true
FIT | 39 2, AfhT He 11 T 21

NTA UGC NET/JRF June 2021(03-11-2021 Shift-I1)



Statement I : Social scientists belonging to the
verstehen tradition do not accept the idea of
predicting human behaviour in mechanistic
terms./ AT (1): A {fq T Twg @
AR T=raTel Ul | AHa Hagi Wiassarutt
@& faem & wier Td o g

Statement Il : It is asserted that the main aim
of social science research is to promote human
understanding./ &I (II): g Hgagds war
ST & fom wmmiSten fasm= oner 329 "r=a aer
@t FieATiRd ST 8

In the light of the above statements, choose the
correct answer from the options given below:/
HAT o AR |, e

W&l 3T ol TT chitoTq;
(a) Both Statement I and Statemr [ are true
HIT 1 3R 11 1 9 &

(b) Both Statement I and Statement IT are false
HYT [ 3R 11 ST 319 2 |

(c) Statement [ is true but Statement II is false
FY9 1 99 7, Al H99 11 379 2|

(d) Statement I 1 1s false but Statement II is true
FIF | FGH 7, Afhd Ha9 11 94 2|

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)

W #H HRE A 21 3 oaxed Ot § gwg
g defae d9ardt el § A9 Fder St &
foeR &I iR 7€ w81 a8 Fagds wer S 2 fE
grrfsieh fagm= snY SEYT AEE INY d1Y S TiedTed S
2| ZHfIT SH FHo9 T 81 314: faFeq (a) Ha ST 2|




Which of the following are true about case studies?

| Praffad § ¥ ET THE- AT % AN § 9 52

(A) Easy to generalize the findings
QLA ohT WTHTGHTUT TTET §

(B) Normally Selects one case for analysis at a
time/TTUT=IAAT Weh @HT W Ueh WUl @Al

(C) Highly quantitative in character

[ S5 TRUTTH aTeT!

(D) Integrates different perspectives
fafirsr aftyeat &t dufed & &

(E) Adopts the most consequent approach to
the particular/fafdte 29 '{ﬁ"@g EFIT:IT-H:
IR Y SRR T )

Choose the correct answer from the options

given below /ﬁﬁﬂ:ﬂﬁmﬁﬁw
3T ShT TTF IS :

(a) (A), (B), (C) only/ 3 (A), (B), (C)
(b) (B), (C), (D) only/ ad (B), (C), (D)

(¢) (B), (D), (E) only/ &d (B), (D), (E)
(d) (C), (D), (E) only/ %ad (C), (D), (E)
NTA UGC NET/JRF June 2021(03-11-2021 Shift-11
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Which of the following are true about case studies? Choose the correct answer from the options

| mﬁﬁ#w'm%a&ﬁw%7 given below :/ e feu 7@ faereat @ @ wE

(A) Easy to generalize the findings IO hT oA RIS :
o § () (A), (B), (C) only/ Had (A), (B), (C)

(\%;thi—:?eﬁe é"%‘%"% (b) (B). (C). (D) only/ Fa« (B), (C), (D)

I HIAT B \/@5 (B), (D), (E) only/ &&d (B), (D), (E)
(C) Highly quantitative in character (d) (C), (D), (E) only/ &ad (C), (D), (E) .
[ SS< URUTTH aTel NTA UGC NET/JRF June 2021(03-11-2021 Shift-11

(D) Integrates different perspectives Ans. (¢) : © (?Iflf-l?.') JIA Ush Afh, HHg a1 ¥Z41 &l

E)ﬁdﬁmtﬁ;&aﬁaﬁmm%l X TeT 3T 21 U8 H9 = H AR & ogq ik sfied™
(E) Adopts the most consequent approach to ST fyveu SHaer FTT
the particular/fafdTg %T:lj' F&@E aﬂﬁ?ﬁ % i N % Ged oI

F Tare & fau far sar 21 39 = 1 9 329
foret =afea Rafy 1 gofa @ 21 3w & fau fad
Hfth, STI9r™, U39 I1 AT FHT @9 LTI FET| HY
wdl ¥ g § 9 99 2-

(i) GEEaaT U 999 § TS FHT H 99 Sl 2|

(ii) favioar & 3=w aRumy arer|

(iii) faferer aftSiesii st gufeq e 21
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